TURBER-RIFREE -RIHHEEDOELR

(BfL:y Sv.h)

— - #h E 50cm
No| BIER |HX%A M 5% 4 T HELT B & = i
1 FETHHEE 0.06 - 0.07 -
2 REfE 0.07 - 0.07 0.07
3 AEREM 0.07 - 0.07 -
4 AR E 0.06 - 0.07 -
5 AIXRERR 0.06 - 0.06 -
6 RAHHE 0.06 - 0.06 -
7 6850 REE®HLMES 0.05 - - -
8 BUSEREERE 0.07 - - -
9 HIZHHEE 0.07 - 0.06 -
10 tERER 0.06 - 0.06 -
11 THERER 0.06 - - -
12 . WY H R 0.06 - 0.06 -
13 % |EEREM 0.60 0.05 0.06 -
14 R e 0.06 0.07 - -
15 = TN ELERBERE 0.06 0.07 0.06 -
16 KIFRERT 0.06 0.06 0.06 -
17 E/vFA 0.05 0.05 - -
18 KRR B R 0.06 0.05 0.05 -
19 VELYREE 0.06 - 0.05 -
20 6H6E i%ﬁ':’éﬁﬁ_ 0.06 - 0.06 -
21 ERRER 0.05 - 0.05 -
22 RERIXZHIZZ 0.05 - - -
23 BEEREM 0.06 0.06 0.05 -
24 EILFYHE 0.08 0.08 0.08 -
25 FRENHE 0.07 - 0.07 -
26 HRRER 0.05 0.06 - -
27 3 EREFIRE R 0.06 - 0.06 -
PRy _
22 6810 fé j_cﬁfﬂf R it 0.06 0.06 o.cis
= =& 2ET 0.06 0.07 0.06
30 KINMRERT 0.07 0.07 0.07 -
31 BILIREFT 0.07 0.06 0.06 -
32 LRREFR 0.06 0.06 0.06 0.06
33 - EFERER 0.06 - 0.04 -
34 m |ATAMRER 0.06 0.06 - 0.06
35| 7R | s APHRE AR 0.07 0.07 0.06 0.07
= ;
36 BXRERM 0.07 0.07 0.06 0.07
37 AAVREER 0.06 0.07 - 0.06
38 TYVARER 0.05 - 0.05 -
39| 68108 | #k&E (FTHEEM 0.06 0.06 - -
40 it |BERERER 0.06 0.06 0.05 0.06
41| 6848 iﬁ HERREM 0.07 0.60 0.07 0.07
42 X [(fBIIRERT 0.07 0.06 0.06 0.08
43| 6A28 | #HE |(HEMXARER 0.06 - - -
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